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Question 7 Review mode

The shortest street in the UK, Ebenezer Place in Wick, is 2.06m long.

The Trans-Canada Highway, one of the world's longest roads, is approximately 7821km in length.

Approximately, how many times longer than the street is the highway?

4000000 400000 40 000 4000 “

Explanation

Since 1km = 1000m, it follows that
7821km = 7821 x 1000m. Therefore

7821km 7821 x 1000

2.06m 2.06
8000 x 1000

2
= 4000 x 1000 = 4 000 000.

Therefore the highway is approximately 4 000 000 times longer than the street.




